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Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has

5 questions of 1 mark each. Visually impaired students follow
the instructions as given with the questions.
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Question Nos. 2 to 6 are very short answer type questions. Each

question carries 2 marks. (Maximum word-limit of each answer
is 30 words)
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Question Nos. 7 to 10 are short answer type questions. Each

question carries 3 marks. (Maximum word-limit of each answer is
50 words)
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Question Nos. 11 to 14 are short answer type questions. Each
question carries 4 marks. (Maximum word-limi

t of each answer is
75 words)
T HAH 15T 16 A 3707 o1 §y T T WS 3 AEfa
(T I Srfrera ey 100 12 1)

Quest:ion Nos. 15 and 16 are long answer type questions. Each
question carries 5 marks. (Maximum word-limit of each answer 1S
100 words) |

Qmsﬁon Nos. 17 and 18 are long answer type questions. Each
question carries 6 marks. (Maximum word-limit of each answer is
150 words)
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(Section — A) Choose and write the correct option:

(1)

(i)

o1 yitffaes a7 -
(3N ae" @) Qd
() 9% @ =

The largest ecosystemis

" (a) Pond (b) Farm

(c) Sea (d) Garden

(31) G I % IR few e At |
(F) Fifre e d

@) Soge F dm s Fem &

@ FHEHE T

Darwin theory is based on:
(a) The observation of his voyage

(b) From cell theory
(¢) Mendal’s law of inheritance

(d) None of these

(i)  UEAATEH I H AT G

(30 ROH &) RCHO
(@ RCOOH @ Rd

The general formula of alkanoicacidis .
(a) ROH (b) RCHO

(¢) RCOOH (d) Rd

[1x5=5]
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Which of the following element does not show
allotropy:
(a) Sodium (b) Oxygen
(¢) Sulphur (d) Phosphorus
e U F Fshar e & vy
2 F
R== R==—
(37) = €) 5
2 R
F = F = —
® F=e @ F-s

Relationship between focal length and radius of
curvature is:

_2 _F
@ R=— () R=>
2 R
F=Z -
(c) = d) F -
-1 (@S -9) ﬂﬁﬂ@ﬂﬁﬁﬁqﬁw [1x5=5)
(Section - B) Fill in the blanks:
(i) 3t st I pH 79 AFA AR
The pH value of acid rain is less than
(i) AFERIMEH _ F ARH-5H & FROT AR
Change in temperature occurs due to exchange
of .
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The enzyme secreted from the stomach is

(V) SRFmw STy

SI unit of resistivity is

—_—

(v) Ui

T T 7|

Packing gaskets are made of

-1 (@ - ) e gy Sifte

[1x5=5]
S @)

() NH,OH (a) IpE g

(ii) ﬁ'\’ﬁﬁ ' (b) AT AG

(i) YT S (c) wiETRH

(iv) @iiefta e (d) T &R
(V) qﬁwwﬁm (e) Tatferor it

(Section — C) Match the following:

(A) (B)
(i) NH,OH (a) Noble gases
(i) Neon (b) Convex lens
(iii) Wind energy (c) Carnivorous
(iv) Astronomical telescope (d) Weak alkali
(v) Tertiary consumer (¢) Renewable energy
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What is biosphere?

What is solar heating device? Give one example.

a3 A A @ v arer fireraR e pH A 6 8
TR 8 R 5 g & gt e H arferen e T

Samaru added baking soda to raw milk and changed its
pH value from 6 to 8. Why will it take more time to
make curd from this milk?

firamgies fifte fomdt e
What is methylated spirit?

EIRENE K T R

What are alveoli?

14°F %t By § seferg)

Convert 14°F into Celsius.

mmmm@majm

What is relative refractive index? Write its formula

mﬁimﬁﬁ%maﬂqﬁﬁm

List the three ways in which

produced. magnetic field can be

12

[1+1=2]

12}

121

2]

13

13]
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Characteristics of al| the organisms present in a class
group are similar. Write any three reasons of this
similarity.

uy-11 ﬁ.ﬁ.m.mwmﬁﬂﬂwama‘rm%ﬁﬂ [2+2=4]

Write the chemical equation for producing PVC and its
two uses.
HYAT

OR
fertsreh <ot 358 wrvar 22 3 @t sy i

What is bleaching powder? Write its two uses.

U¥R-12 AT T S99 FT 22 IR0 9 THEIEY) [4]

What is adaptation and fossils? Explain by giving

examples.
HYQT

CR
T & feimr Faitor i wiskan = awgmy
e gl S feir ferftor 3 Y ot & e W
(SITgE) T T fTE)
Explain the process of Sex determination in humans.

Note: Visually impaired students should write the names
of the zygotes in place of the diagram for sex
determination.
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UeA-13  YORISaE AN EET § $i 9 s fafaw [1+1+1+
Write any four differences between Breathing and 1=4]
Respiration.

AYAT
OR

iR T 3N Srdifire wor F #rd = SR ffey

Write four differences between Sexual Reproduction and
Asexual Reproduction,

W14 T {50 et & forelt eraor oY ey forr e Forifr [2+1+1
- Bt ¥ NH,NO; 3K Na,CO, 1 32T o §HZTsY =4

What is a Salt? How is the nature of a salt determined?
Take NH,NO, and Na,CO, as examples and explain.

HYQT

OR
7 et o vy e 5, 7 T 10 ¥ SR L [141414
() =NEaETiIzETdy
(i) FTaETt15H
(ili)y PTTT T 13FT LY
(v) FIftae v amad & 3

. | 1=4|

Atomic number of three elelhents are 5,7 and 10
respectively. State that- -

(1)  Which element belongs to group 18?
(i)  Which element belongs to group 159
(iii) Which element belongs to group 13‘;"
(iv)  All these elements are from which period?
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(1)

(ii)

()

(i1)

(1)

(9)
—
SRR L e ————— - 12

TR R forey fargat 2 aramse. =5|
(3 Ffavme

() Tty

el forege st 35 0,5 feregeraa 10 fire @6
STt Eieft &) foregar wir & st ferega e &
qRHTOT 3T i

Electrical Circuits are used in our homes. Fixplain
the points for domestic circuit-

(@)  Overloading

(b)  Alternating Current

An electrical current of 0.5A flows in the filament

of electric bulb for 10 minutes. Find the magnitude
of electric charge flowing through the electric

circuit,
HYAT

OR
G % T W Eare st afoea ey

¥ forgger wftae SR
{0V Ferar= ¥ 2t fargai & affer 2 e e
STy 3 T bt faT ST

qﬁaﬁﬁﬁm’ﬁmwmﬁﬁgﬁqﬁw%

o T e G @

Define paxallel combination of resistances and

draw an electric circuit for this.
P.T.O.
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a¥1-16

T91-17

(i) How much work will be done in carrying 2 c_harge
of 2 Coulombs between two points of potentlal
difference of 10V,

Note: Visually impaired students will write only formula
in place of circuit diagram of series combination.

T o e &7 TR b T § fhg w87 [24142=
JYEH ht 51T & &) I fafia S

What 1s refraction? How it is different from reflection?

- Write two uses of the phenomenon of refraction.

HYAQT
OR

FIAA 90T ot Fgar & wferferarat 9@ g g w0 ¥ fatT
S W T AT G T IRIT 22 araact g F At 9@
fafay

What is a Concave mirror? Which mirror is appropriate
to obtain the image on the screen? Write two uses of
Concave mirror.

(i) TTEgH & ot it swae ffag 131
(i) ey e a’rﬁwqa\aqmaaqﬁrr%f@m [1+2=3]
(1)  Write three industrial uses of hydrogen.

()  What is alloy? Write the names and uses of two
alloys.
HYAT

OR
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1
() TS % ot siedifrrs sweir forfi 131
(1) What 1s Corrosion? Describe two factors affecting
1t.
(11)  Write three industrial uses of nitrogen.
wR-18 (i) < wifve w5 s it e ny 3]
(i) Ty vifir sret aveht ot &2 se el foafigdn @S @) (14231
e - g fommeff for & v o e i
U HN |
(i) Draw alabelled diagram of nerve cell.
(ii) Where is pituitary gland found? Write its
' functions (any two).
Note: Visually impaired students will explain the parts
of the nervous system in place of the picture.
QT
OR
G) TS % TS O o S AT (o SR 3]
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(1)

e gf&aﬁaﬁ'mﬁﬁﬁ;mthaﬂ%wﬁw
U HA

(i)  Draw a labelled diagram of human digestive

system.

(ii)  What is blood? Write the names of blood

corpuscles (any two).

Note: Visually impaired students will explain the parts
of the digestive system in place of picture.
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